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Fillinthe blanks :
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Two angles are congruent if
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Ifthe areaof a square |s 225 m?, then its parimeteris
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Measurements of each angle of equilaterial triangle g

3. (a3-b%)=(a-Db)(.
A. 1,5, 9, 13,
PreferfRaa @elAl § ¥ / arrea Bicax fafay— (5x1=5)
Choose True/ False inthe following statements :
d. YU AURAT HER |
Zerois anirrational number
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Each side of a cube are equal.
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e and g arenot equal rational number.
. P =g+ @
Amount = Principal + Interest
5. WhEdarAdaasd d v
Atriangle may have four vertices.
el fee g
Choose the correct option :
@, ¢ a:b=4:5 T bic=2:3 FAT ac
ifa:b=4:5andb:c=2'3thena:c
(i) 4:3 (i) 8:15 (iii) 8:9 (iv) 5:3 .
9. 60° B YRS IV gy DI |
-:28 complementang|e of 60° willbe :
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(5x1=5)

30° (il) 60° (iif) 90° (iv) 100°
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Theareaofa circle is 9w cm? Its circumference
A) 8mem (i) 36pem (i) 9mem  (iv) 36 n2pfn
! A& x=100 oy 120% x T 2
If X=100then 1209 of xis
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ifthe Perimeter ofa squareis 16cm.themitsareais
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Solve the following questions : (5x3=15)
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By selling an Air Conditioner
for Rs.
What did | pay forit? s 13000- | loose 20%

PIZ BTV ABC HifR | 1 m BD
ZABD = /CBD

Draw an angle ABC, Draw 3 ray BD as well as .4ABD =
ZCBD
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0 An equilateral triangle has perimeter 9 cm. then find its
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7y\1§l (3x+¢y)ﬁ{[ﬂﬂ3ﬂﬁm AN
Itlply (6x + 7y) from (3x + 4y)
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Solve the following questions :
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Xy +yz +zx ¥ F1 olts & ~ Xy —yZ—ex 91l B2~
What should be added to xy + yz + zxto get —xy—yz—2zx
2000 594 BT P, Q, RH 2:3:5 B Iurel # afey |

Divide Rs. 2000 among P, Q, Rin the ratio 2:3:5

3T ABC @1 AT BRI i BC =4 om., £ B = 50°
£C=70° . ~
Construct AABCinwhichBC=4¢cm., zB=50°and
£ZC=70°
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Find the attitude of @ triangle whose area is 42 cm? and
baseis 12cm.
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If the same of two consecutive number is 24, tell thoge
numbers.

A TP AN UE Agfed 9. 2500 H WGl R 991 % 2700
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A trader purchased a bigycle for Rs. 2500 and sold at Rs.

@;\J—:hat is His profit percentage. <
ut H19 3 d1—  Find the value of :

2 2
(i) x 23 x (_g_) .
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= gt &1 & BIfoTg— (4x7=28)

Solve the following questions :
b,
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Remainder is 20 when you- subtract 5 times from its 6
times.
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Asquare park has area 100 m?, then whatis its perimeter.
180° BT PBIUT qATHY G WHR &I Heraal § $H&] IR
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Divide it into four equal parts with the help of the line from
anangle 180°.
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B jabours can make a room in 5 days. 15 labours will be
able to make himin how many day?

Foferfere) el 1 7ot - (3x5=19)
Solve the following questions :
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Solve the following equation by trial and error method :
X+2=10 ”
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Find the mean of the following distribution:

X 4: - B .94.., 10 15
4 5 an 16 -7 8



